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O s34 478,805,000& 478,805
O HeERA+Y HMWLE
478,805,000& = 3% 14,365
O Belgesy
3,976,100& * 9% * 5& *12& 21,471
O fg=¢ 39,000
- 22 50,000& = 25% = 123 15,000
- 83 40,0003 = 50 = 123 24,000
O Exg2H 1,394,040
- JIgdEs¢ 375,360,000& 375,360
— 2 HRE 361,680,000 361,680
— HIAYRL(HRE) 88,320,000& 88,320
— A+ (4E, AMHAE S)
298,080,000 298,080
- ExIRRH 270,600
Qla=g 30,000& = 508 » 12&8 18,000
AN =E 20,000& = 1& = 123 240
SY 2R
70,000& = 197 = 123 165,480
o3¢ 8,880,000 8,880
M EXNER=Y
70,000& * 65 = 12& 54,600
MESXEReE Jtita
30,000& » 65 = 12& 23,400
O ZAUSAH 130,000& = 5408 » 12&8 842,400
O FEFItdI
18,615,402,000& /128 * 60% » 23| 1,861,541
O YEESIE MRHME=2
1,861,541,000& * 3% 55,847
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